Math 54, Section 214
Quiz 1, September 29, 2009

QOW reduction:

Your name:

Key

Please write your name on each sheet. Show your work clearly and in
order, including intermediate steps in the solutions and the final answer.

1. (6 pt) Find the general solution of the system whose augmented matrix is

-2
-11.
~5

Show the intermediate steps of row reduction. Indicate which variables
are basic and which are free.
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2. (6 pt) Does v lie in Span{u;, u,}, where

v = 1 1 = 2 s = 3 2
2] ! -4’ 2 —6|"
Explain.
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Math 54, Section 214 Your name: M@

3. (7 pt) Do the vectors v
el e
span R?? Explain. o 4
N1, .;\73 S!\)Ow R<=> = [(2) ‘O 61




